









































































































Quest
a Solve the recurrence relation

Masterstheore

TG at 3 n'log m

a t b t k 0 p real no

1 if a b then Tfn magna

2 if a b

a if p 1 then n 0 n 99 logbin
b if p t then Tcm Q n 99 loglogn

c if pe l then In 0 n 99

3 if acbk
a if p o then T n 0 nk login
b if pco then n 0 nk

i Tcn 676 n'logn

9 6 b 3 k 2 p 1

Here a C bk 6 32 629












































































































pas ie p o

Tcn 0 n'log n

ii T n 27 In t log n
Let n 2m log n m

2 27 2k t m

Let 2 SCA
s m 256 2 4m

Using Masters Theorems

a 2 b 2 k I 6 0

a bk and ps s

s m G megslog m 0 mtg log'm elmlogm

2m 0 m logm
T n 0 logn loglogn

b Time complexity of programs

void fun n

int i j count O

for i n i so i i 2

forCj 0 jc i j t

count t





























	 















































































Since j loop is dependent on i so lets unroll it

Value of i n n 2 74 78 M n

j loop runs n 42m16 8 Mn

Total j loop runs n ng ng ng t I

i n f t t I I t g

IF
n

f
an OG

2

Logic Divide the array in 2 parts and compare the
maximum and minimum of the 2 parts to

get the maximums and minimums of whole array













































































































Recurrence Relation T n 27 2 t d


















Solving a 2 6 2 k o p O

bk320
n odor 06h93 Ocn

Ques3_

arr 83338 I
Ans 2 indese



Ques 4

Assumption Every job takes 1 unit time for completion

a

foles

Profits

53 54 55 y
Deadlines 5 3 2 2 4 I

200 180 190 300 120 100

Sort the jobs in decreasing order of profit

foles
Deadlines I 52 53 5
Profits 300 200 190 180 120 100

Iterate over the jobs and assign the last slot
available Profit

O

0 1 2 3 4 5 6

34 34 300
0 1 2 3 4 5 6

51 34 51 3004200

0 1 2 3 4 5 6

53 53 34 51 30042004190
0 1 2 3 4 5 6

32 53 34 52 51 300420041904180
0 1 2 3 4 5 6

55 53 34 52 35 51 300420041904180
120

0 1 2 3 4 5 6



53 34 52 35 51 30042004190418036
120

0 1 2 3 4 5 6

deadline is a but no free slot
is available So Job6 cannot
be completed

Inswerst
53 34 52 55 51

0 1 2 3 4 5 6

b No job 6 is not completed

c Profit 300420041904180 120 990

Questa V1
I 8

Is v9 2 V2

3 y 4

7 4 3 6

08 v3

v7 3 v6 8 VG

1 7

v1 v1
I 8 1 8

v9 v95 2 V2

3 y 4
5 2

I3 F

gv8 V3

7 4 3 6 7 4 3

v7 3 v6 8 V4 v7 3 v6 8 VG

1 7 I 7
V5 V5



v1 v1
1 8 1 8

v9 v95 2 V2 5 2 V2

a3 y 3 y
v8 V3 v8 V3

7 4 3 6 7 4 3

v7 3 v6 8 V4 v7 3 v6 8 VG

1 7 I
V5 V5

v1
I 8

v1
v9 I 8

5 2 V2

v93 y 5 2 V2

v3 3 4v8 I F

F 4 3 v8 V3

v7 3 v6 8 v4 7 4 3 6

v7 3 v6 8 VG
1 7

V5 I 7
V5

V
g v1

I 8
v9 5 2 V2

ng
4 5 2 V2

3 y 43 yv8 V3

7 4 3 6
V8 V3

7 4 3 6
v7 3 v6 8 VG v7 3 v6 8 VG

1 7
V5 I 7

V5



u
010 u

1 8 1 8

v9 v95 2 V2 5 2 V2

43 y 3 y
V3 v3v8 v8 I7 4 3 6 7 4 3

v7 3 v6 8 V4 v7 3 v6 8 VG

1 7 I 7
V5 V5

v1
I 8I 8

V9 5 2 v9
3 I 3

5
y

2

Iv8 V3 v8
7 4 3 7 4

v7 3 v6 8 V4 v7 3 v6 8 V4

1 I 7
V5 V5

V
8 V

8
V9 5 2 V2 v9 2 V2
3 y 4 3 y 4
v8 V3

7 4 3 6
V8 V3

7 4 3 6

v7 3 v6 8 VGv7 3 8 V9

I 7 I 7
V5



v1

s I
É

a
ngv9 2 V2

3 y
v8 V3 v3

7 4 3 3 I
v7 3 v6 8 vÉ v7 3 v6 v4

I 7
V5

Total Cost 34143 241 346 6 23


